F_FHESETERRBREES (/\)
A

=i
PE 4
EEER

IO N e e A SR U N AN e R R I T S
B,

2. PR 23 wn S 28 A 28 SR U 5 Sl 0 38 RO S 00 i PR 40
WHME R ERETERS PR TR ELEE.

3. Tl HEL S O e 7 4 A R XS PR A 2 R R X
B B2 SO A B R AR U A R

A PR R T I AT S AR

1y

5

L T (e
H % x 6
TE 2
HEREUR ) EmE=111]

—\iﬁgo (&i*& 1 57\’;#‘ 28 57\)

1.

2.

10.

11.

T T A5 0 0 2 DS N A 2 R D TR (8 T A R DX SR 2 R TE AL

J

)=

\
/

TR TE 425 L1 280 JL DX S D A 22 o R 0 5 TR T ATE B S DXl 1) 28 58 TE AL

ZUEFEE, (AL 5,310 5)

1.[A] [B] [C] [D] 2.[A] [B] [C] [D]
3.[A] [B] [C] [D] 4.[A] [B] [C] [D]
5.[A] [B] [C] [D] 6.[A] [B] [C] [D]
7.[A] [B] [C] [D] 8.[A] [B] [C] [D]
9.[A] [B] [C] [D] 10.[A] [B] [C] [D]
Es#ljla-kﬁo (‘&‘J‘?‘%ﬂlé]\”ﬁ‘S/ﬂ\)
1. 2. 3. 5.
M.tE, (3529
1. (081 5,410 %)
2 (5:']‘7‘?@347\9 Za) 12 éJ\)

3 3 5 1 1\ .
571076 e R

7 9 7.1 34,

16 X32+32X 5 R TR L

TR FE 45 L 1A 285 R0 DX 3 P V28 i B 60, 0 1 0 HE BR S8 [XC 388 19 2 58 B3

il




TR A A5 00 2 DB A R D TR (A TR A R DX 2 R TR

3.(FDA3 5,3k 90
4 18

—xr=_= A+ —x= —r— ==

1
57725 2 8" 5 5

4. (3t 4 50
22 NEDITIR AR

PR

FBRREE, (22 5
L. (3 49

2. (42

T A A5 L 0 25 P DX PN A 2 S € T i A R DX ) 2 SR TR AL

J

)=

\
/

TR TE 425 R I 280 JL DX S D A 2 8 o R 0 5 TR 0 ATE B S DXl ) 28 58 TE AL

3. (4 4
4. (4 59
5. B (AN A
mA | 5EA | AA | EA
Yo
Py 1) B 23 25 26 34
Py (2) Pt 24 26 28 32
(12 2 TN E N E R A VEE K 5 RS E
gy (1) #¥f—
W) FEe---
WH HA ANA kA
(2)(2 29
(3)(3 4%

=)

TR T 45 5L 14 20 T DX S A P 27 o ST TR 00 HE R T DX P 2 58 TR AL




E_FHEETRETHEREEZES (L)
A

=i
PE 4
EEER

IO N e e A SR U N AN e R R I T S
B,

2. PR 23 wn S 28 A 28 SR U 5 Sl 0 38 RO S 00 i PR 40
WHME R ERETERS PR TR ELEE.

3. Tl HEL S O e 7 4 A R XS PR A 2 R R X
B B2 SO A B R AR U A R

A PR R T I AT S AR

1y

5

BREFRIC [

W% % Bl
E 3
BRSO (7] e

—\iﬁgo (27 57\>

1.

2.

3.

OO00O

4. (D (2)

11 . 3 11 11,3
1375 13 13><5(

10.
11.

3

11
13

(4)

3
8><1§(

12.
13.
14.

15.

1§15

T T A5 0 0 2 DS N A 2 R D TR (8 T A R DX SR 2 R TE AL

J

)=

\
/

TR TE 425 L1 280 JL DX S D A 22 o R 0 5 TR T ATE B S DXl 1) 28 58 TE AL

S BB, AT AR AT (5 )

1. 2. 3. 4. 5.
=ZVEE 85

L[A] [B] [C] [D] 2.[A] [B] [C] [D]
3.[A] [B] [C] [D] 4.[A] [B] [C] [D]
5.[A] [B] [C] [D] 6.[A] [B] [C] [D]
7.[A] [B] [C] [D] 8.[A] [B] [C] [D]

Mt E. (2499
1.(4 %9

2. (10 %)

30 5 14 4 5 9
55 93 33 3.78— 2 +6.22—
5 /5,2 13,3 5,5
Lot AT
3.(6 4
.3_ 7 o , _ 14
TS 6xr—x=4.5 dx—+3x 15
7 2 R0 K A 0 L 1 06 0 R X 102 8 Tk
il




T 4% J0 10 245 B0 1K R R A 2 R B R T 0 HE R I 1 2K 6 T A T T 5 R0 2 R DX A2 PR TR 0 A PR DX 25 S TR A

4. (4 5 2. (D
HA5? To

% 2T 3951

(2)

A EKEENMH. (11 9)
1.(D

(2)

(3) (3
(4)

ar
CH

2.(D

(2)

& €510

(3)

(4)

2R K /em
ISR R
AN THI 2 1E 5 1B B K 5 1A
BA IE T3 B K7 (R

=k
o
g8

7 /cm @

EME, (10 5

NRRE B, (25 5 1. (1)

1. (D (2) (2)

(3) €Y)

T A 25 O X A A2 1 00 T 30 R 2 28 8 T8 1 LI 2 RO R A AR R o I (5 A HE R 2 R 22 8 T8



F_FHSETKRTHREES ()

IO N e e A SR U N AN e R R I T S

AEN

2. PR 23 wn S 28 A 28 SR U 5 Sl 0 38 RO S 00 i PR 40
WHME R ERETERS PR TR ELEE.

3. Tl HEL S O e 7 4 A R XS PR A 2 R R X
B B2 SO A B R AR U A R

=i At
P9 4 = 557
sEEm |

A PREFE R T AT S AR

L T (e

H % x 6
IEA B
HEREUR ) EmE=111]

—sfif%*ﬁ@ﬁﬁﬁiﬁﬁo (5:?;5_’ 1 67\7;‘/#‘ 28 57\)

1.

2.

3.

o | e

©o|ro
O

©o|ro

> *® X =@

11.

1.[A]
3.[A]
5.[A]
7.[A]

[B]
[B]
[B]
[B]

[C]
[C]
LC]
[C]

[D]
[D]
[D]
[D]

[(B] [C] [D]
[(B] [C] [D]
[(B] [C] [D]
[(B] [C] [D]

T T A5 0 0 2 DS N A 2 R D TR (8 T A R DX SR 2 R TE AL

J

)=

\
/

TR TE 425 L1 280 JL DX S D A 22 o R 0 5 TR T ATE B S DXl 1) 28 58 TE AL

= FHEED,ANEITE, (£ 34 %)
1. (10 29

2. (4 )
3.1

17T

3(7/5’:7%@247\9/\867\)

7,4 1 3 5

3.22+2.8xr=12.6

2m—6.8=10.8

0.50—3.9=5.1

2 ..
S+3=
6 3,2
63 (- == X0
o 10
1277 9
31
Ty—42=3 5

TR T 45 5L 14 20 T DX S A P 27 o ST TR 00 HE R T DX P 2 58 TR AL

=)




TR A A5 00 2 DB A R D TR (A TR A R DX 2 R TR TR TE 425 R I 280 JL DX S D A 2 8 o R 0 5 TR 0 ATE B S DXl ) 28 58 TE AL

M. EhF e, EERE, (2+4=6 %) 3.(1)
1. it
7 %
(2)
2.
okt /4

C

C 4.

C

¢ G-

C

C 2. 2

C

C

« ) Hip
HUEFER BREE, (324 9)
L (D 5.

(2)
6.
2.
A A6 0 2 4 2 o 6 30 1 R B 2 6 2 A 25 L 2 S 1A 1 e 6 0 32 R B X B 25 6 T



E_FHMAKTEZERREEZSE(+—)

=i
PE 4
EEER

IO N e e A SR U N AN e R R I T S
B,

2. PR 23 wn S 28 A 28 SR U 5 Sl 0 38 RO S 00 i PR 40
WHME R ERETERS PR TR ELEE.

3. Tl HEL S O e 7 4 A R XS PR A 2 R R X
B B2 SO A B R AR U A R

A PR R T I AT S AR

A

5 4

L T (e
H % x 6
TE 2
HEREUR ) EmE=111]

— EBET, GERABREER EHRLEHFFEAZ)14 )

L.[A] [B] [C] [D]
3.[A] [B] [C] [D]
5.[A] [B] [C] [D]
7.[A] [B] [C] [D]

2.[A] [B] [C] [D]
4.[A] [B] [C] [D]
6.[A] [B] [C] [D]

SURIRBERERSEMEME b, (FE 1 4.2 28 H)

1.

2. (D

(2)

5.(D

4)

(3) 4)

10.

11.

T T A5 0 0 2 DS N A 2 R D TR (8 T A R DX SR 2 R TE AL

J

)=

\
/

TR TE 425 L1 280 JL DX S D A 22 o R 0 5 TR T ATE B S DXl 1) 28 58 TE AL

12.

13.

14.

=tE, (3% 26 90

1. (8 %)
2.(12 49

5_ 1.1 2.4 L1313
€2+3 65+ 25T
17 (7,3 13, 14 1
20 <20+8 84><39 0.75 11+4
3.(6 4

2z _ 7 9. _3 1 423
5T 10 1Y 16 3Y 5y

=)

TR T 45 5L 14 20 T DX S A P 27 o ST TR 00 HE R T DX P 2 58 TR AL




TR A A5 00 2 DB A R D TR (A TR A R DX 2 R TR

TR TE 425 R I 280 JL DX S D A 2 8 o R 0 5 TR 0 ATE B S DXl ) 28 58 TE AL

M W E=BIE, (X620 3.
1. (2 49
4.
2. (&% 4459
(1)
(2) 1t
4o
5.
307 4 s . S
| BE% i K —_—
30°] e 20 JH K
B LHDOK R 7R2000K
H BREB, (£ 269)U4+H4+H4+H4+4+4+2)
L (D N(BEFAR ) MEFEERN R BIE RS ITE 6.
N i
2
. : A
(3)% 20 18 g 2
15 12
10 8
; i
0 =% - - N
&P B Hib Fhk
7.
2. :

T A A5 L 0 25 P DS N A 2 R D TR (A R T A IR DX SR 2 R TR AL

TR T 45 5L 14 20 T DX S A P 27 o ST TR 00 HE R T DX P 2 58 TR AL

J
=
=



E_FHMKTREEEREEZS(+2)

=i
P9 Ik 4 =
EEER

IO N e e A SR U N AN e R R I T S
B,

2. R S A6 UM P 2B B4 B0 5 A i S 4 0 OO 3
#rFEbRd (]

WHME R ERETERS PR TR ELEE.

3. Tl HEL S O e 7 4 A R XS PR A 2 R R X
B B2 SO A B R AR U A R

A PR R T I AT S AR

A

W% % Bl
E 3
BRSO (7] e

—EREEHERNFERSERESTER L, (X 14 5)

L.[A] [B] [C] [D]
3.[A] [B] [C] [D]
5.[A] [B] [C] [D]
7.[A] [B] [C] [D]

2.[A] [B] [C] [D]
4.[A] [B] [C] [D]
6.[A] [B] [C] [D]

—EREEHEREESEAR L, (F2 M3 EAHET 1 5,422 5)

(2) (3)

K

(2) (3

T T A5 0 0 2 DS N A 2 R D TR (8 T A R DX SR 2 R TE AL

J

)=

\
/

TR TE 425 L1 280 JL DX S D A 22 o R 0 5 TR T ATE B S DXl 1) 28 58 TE AL

=S EREERRKEE—&, (k225

1. (6 %)

2. (4 49
5 . 3
51 11=4 x+4x 2.8

3.(12 %)
1.2 1 9 .3
53 18 X075
o_(o_ 4 4.1
s (573 15X 2+

mOERESZER EE—RK.B—E, (X8%)

1.(2 59

=)

TR T 45 5L 14 20 T DX S A P 27 o ST TR 00 HE R T DX P 2 58 TR AL




TR A A5 00 2 DB A R D TR (A TR A R DX 2 R TR

2.(HFA2 5,36 4)

(D (2) 1k
(3) 60° o&/ﬁj’ﬁ%
?1"%7'6@ R
300 m 405
o'/
SEIL
A VERESTREBHREDM, (£ 34 5
1.(8 %)
1 (2) 1 07 fi%
- : L2 m Lo
ﬁé%%: ; 1
By
(3) (1) B
2.(6 59
( ) N VIN
(1) > 161 m 4 m gk
12
12
(2)DLA] [B] [C] 10
8
OLA] [B] [C] 6
4 3 3
(3)
0
1.40~1.49 1.50~1.59 1.60~1.69 Hm/k
3. (6 4%

T A A5 L 0 25 P DX PN A 2 S € T i A R DX ) 2 SR TR AL

J

)=

\
/

TR TE 425 R I 280 JL DX S D A 2 8 o R 0 5 TR 0 ATE B S DXl ) 28 58 TE AL

4. (6 5

(D

(2)

5.4 49

O w5k 4% 11213415 10 "
P e K 7 | 13119 | 25 | 31 121
2
6. (4 5
7
(D
4
(2)
5 E 2% 00 1 225 B IS0 AR 25 L 8 DL 60 T 3 HE B 5 X B 10 5 2R T
n




FEFHMATERTHREZES(T=)
A

=i
PE 4

IO N e e A SR U N AN e R R I T S
B,

2. PR 23 wn S 28 A 28 SR U 5 Sl 0 38 RO S 00 i PR 40
WHME R ERETERS PR TR ELEE.

3. Tl HEL S O e 7 4 A R XS PR A 2 R R X
B B2 SO A B R AR U A R

A PR R T I AT S AR

1y

5

L T (e
H % x 6
TE 2
HEREUR ) EmE=111]

—EREEHERNFERSERESTELR L, (HI-2 5.4 145

L[A] [B] [C] [D]
3.[A] [B] [C] [D]
5.[A] [B] [C] [D]
7.[A] [B] [C] [D]

2.[A] [B] [C] [D]
4.[A] [B] [C] [D]
6.[A] [B] [C] [D]

3

CEMRIBEREREATEERLR L, (=
1.

y

bl

wn
—
X
Do —
—

\
Do —
—
|
ol
©o|wo

> *® X2

11.
12.
13.

S22 )

T T A5 0 0 2 DS N A 2 R D TR (8 T A R DX SR 2 R TE AL

J

)=

\
/

TR TE 425 L1 280 JL DX S D A 22 o R 0 5 TR T ATE B S DXl 1) 28 58 TE AL

=S EREERRKEE—F, (32645

1. (6 4%

7.2x+2.8x=9

3. (12 49

18*18><€

7 2
ﬁ+0.21—|—0. 79—0—ﬁ =

4. (4

1 8
§><24—0—24><§

2.5

=)

TR T 45 5L 14 20 T DX S A P 27 o ST TR 00 HE R T DX P 2 58 TR AL




TR A A5 00 2 DB A R D TR (A TR A R DX 2 R TR TR TE 425 R I 280 JL DX S D A 2 8 o R 0 5 TR 0 ATE B S DXl ) 28 58 TE AL

M iEREESEREETE—EH. BE—B, (%4 %) 4. (5 49
1. (2 5% (1)
2. (25 1t
R
30°
ii] — K
SV ALE S (2)
100k
s J) P
[
A OEREZIR EERET, (% 34 5)
1.6 ) 5. (44
(D1 %5 INSEFNINE FORAATK AR & G it B
(2)(2 ) ANH A NG e NS
50
(3)(3 %) 50 40 40 —
40 354--""" “a L7 '45-.- 40
B0/ 30T 133 T30
20
18 6. (5 %)
RSB IR =R EPYIR S IR D /@ﬁ% 5@;@3
' 910 '
2. (4 ) "
3 9 .3 2
I A2 e 2
B iy O 9,3
(2)1Eﬁ?i5$%“<ﬂﬁ4 3 X 1
w5 B s 9_3
(@$%z%%%4 s 1
@ R 0 243
7.4 5
3.(6 %)
(13 2 2)(3 4

T A A5 L 0 25 P DX PN A 2 S € T i A R DX ) 2 SR TR AL TR T 45 5L 14 20 T DX S A P 27 o ST TR 00 HE R T DX P 2 58 TR AL



TR TE 425 L1 280 JL DX S D A 22 o R 0 5 TR T ATE B S DXl 1) 28 58 TE AL

o — A (= 2 ~ 3 — LY 73
FFHEHEMTIILTHREES(+M) = WEE, (%29 5)
= L o 7N 7
BPRE %
z %1’1 El‘. [S) -
1.(FM 1 45,348 %)
PEZ 44 e 397
EEER -
LRI % A S D IO BEG E4  S HUT T AE  OR I A A e
AR |
2. PR A U T 2B 5 B0 5 I R 40 T B T D :
. 2. (/1 4, % 4 5
B I E R T BT TR T B BT [ FA 17 a)
3. 4 A2 T o T D A 25 X 10 2 BT X Hi&xH éxi 3><51 3.5
T 125 TEA s AE R AT A 1 R IE # 20% 57 4 17 8 12
A PR R T I AT S AR R O (7] Eag=1!
—iﬁfﬁ@ (%1;@457\9%— 293;@4257\0 —ﬁ-zj‘\%zlé]\,#‘leé]\)
Y A R ;
2 3.(HM2 5, £ 85
2
: 9 7 3,1
8 16 16 I 7+8
3. (D (2) (3) (4)
4.
5.
6. 8§ (2 1 3, 47
o (572 1075 1
7.
8.
9.
10.
11.
4. (FA4 3 4.9 )
TGEEE, (B8 15.%85) 4 18 1 _ S5 . 3_2
5% 25 bty ae=9 8% 5 5
1.[A] [B] [C] [D] 2.[A] [B] [C] [D]
3.[A] [B] [C] [D] 4.[A] [B] [C] [D]
5.[A] [B] [C] [D] 6.[A] [B] [C] [D]
7.LA]1 [B] [C] [D] 8.[A] [B] [C] [D]
S 4% B A 25 K I P PR R L B T 0 HE BRI I 25 R TE Ak TR T 45 5L 14 20 T DX S A P 27 o ST TR 00 HE R T DX P 2 58 TR AL



M RIEB, (A4 5,%80)

1. (D2 59

(2)(2 49

2. (4 49

4K

H BREIE, (6+4+5+5+6+5,3 31 5)

1. (FA4 3 4,3 6 4)

(D 1 (2) 1500
| | | L 1 1 1 1 )
— A A — | I I I R L.....] |
3 4 ?
2. (4 )
3.(5 %9
(L2 5
(2)(3 2

T A A5 L 0 25 P DS N A 2 R D TR (A R T A IR DX SR 2 R TR AL

J

)=

\
/

TR TE 425 R I 280 JL DX S D A 2 8 o R 0 5 TR 0 ATE B S DXl ) 28 58 TE AL

4. (5 %)
5.(6 %)
(L2 4
(2)(2 49
(3)(2 49
6. (5 4 Al 4 H
1H | 2H | 3H | 4H |5H |6H
25
— 25y 12 8 7 8 9 10
b7 25 245 4 6 20 | 16 | 17 6 3
(L2 4 . — iy - (2)(2 49
Wi @5&%%%_ ?
2 (3)(1 %)
16
14
12
10
8
6
4
2
T2 3 1 5 6pp

TR T 45 5L 14 20 T DX S A P 27 o ST TR 00 HE R T DX P 2 58 TR AL

=)




FEFHBAMTURKBEREES(TR)

#HEil@m  Fug
HE 44 Ea5 557
EEEM

LRI % o0 B B BRI 4 L U N A L OF W A 4% S R I X I,

22 : |
2. PR MU 4 A6 TR FIT 2B % 5 BU0R 5 % A 35 40 0 D 2B e i

WHE RS E RS TEBT T T Bl % bRl ]
. L 1 00 X B A 102 6 o250 X 03 % =

1 R R 1 B R R R I 50
A PREFE R T AT S AR HERHUA 7] EmE=111]

—\iﬁﬁi@o (7&?‘1‘\: 1 57\’;#‘ 20 57\)

1.

10.

ZVHIE S, AT BRI X)) 4

1. 2. 3. 4. S.

T T A5 0 0 2 DS N A 2 R D TR (8 T A R DX SR 2 R TE AL

J

)=

\
/

TR TE 425 L1 280 JL DX S D A 22 o R 0 5 TR T ATE B S DXl 1) 28 58 TE AL

= EFEE, (109
L[A] [B] [C]
3.[A] [B] [C]
5.[A] [B] [C]

2.[A] [B] [C] [D]
4.[A] [B] [C]

[D]
[D]
[D]

M it&Em, (37 5

1. (8 4

1.82+7.2x=9

_ o 4 31,2 8
8 9+9 5 5 9
.6 _
x— oz 30
5x—3.2=5.2

=)

TR T 45 5L 14 20 T DX S A P 27 o ST TR 00 HE R T DX P 2 58 TR AL




TR A A5 00 2 DB A R D TR (A TR A R DX 2 R TR TR TE 425 R I 280 JL DX S D A 2 8 o R 0 5 TR 0 ATE B S DXl ) 28 58 TE AL

4. (4 4.
6004
L —r——— 1
LB E
AL —
27
5. (4 )
5. (D
10 cm
7cm
14 cm
FEESE B TRREE, (3.5 BAA 65, LALM 4, % 28 5)
1.
2
2.
6.
3.
T TE 25 801 20 JEIX 38 A P28, R R DI £ T 0 E IR IX 8 ) 25 58 B AL T T 45 1A 255 R IX S5k PN 25 R H B 6 T 3 A IR S X 3R 1) 25 2 6K

J
=
=



FEFHBAREM RS (+7)

#HEil@m  Fug
HE 44 Ea5 557
EBEED

LRI % o0 B B BRI 4 L U N A L OF W A 4% I R X

22 : |
2. PR MU 4 A6 TR FIT 2B % 5 BU0R 5 % A 35 40 0 D 2B e f

WHE RS E RS TEBT T T Bl % bRl ]
. L 1 00 X B A 102 6 o250 X 03 H % % Bl

15 S8 T TE B A I A T .
4 AR R T R R BER R [T e

—\-H-ﬁi@o (40 /ﬂ\)

1. (10 99
2.(12 29
7 2 1 8 5 1
(1)ﬁ+g T D5 13713
(1 S5,1,8,3
(900 <11+5) R ERE RS ERA
3.(6 )
_ 5 8 .
(1)3.5x+2.4xr=354 (2)@1—25 (3)4x—3.8xr=36

T T A5 0 0 2 DS N A 2 R D TR (8 T A R DX SR 2 R TE AL

J

)=

\
/

TR TE 425 L1 280 JL DX S D A 22 o R 0 5 TR T ATE B S DXl 1) 28 58 TE AL

4. (9 4
(D T 2 (3)
4 5¢ t
9 cm ) icm 2 12 cm
l =8 cm— S dem l /112 cm
<_12 cr?;
5.(3 49
— iR, (540
7. s
BAA mmEiS BN R
Pr2k ok %Bﬁj\ﬁ/‘]%
= ETZFE, (10 )
L.LLO] [@] [®]
6 12
2. (1) ( )0. 9 (2) 5+ )0. 5
3.
4. (1)
(2)

TR T 45 5L 14 20 T DX S A P 27 o ST TR 00 HE R T DX P 2 58 TR AL

=)




I

TR A A5 00 2 DB A R D TR (A TR A R DX 2 R TR TR TE 425 R I 280 JL DX S D A 2 8 o R 0 5 TR 0 ATE B S DXl ) 28 58 TE AL

s 5
6. (1 (2)
7.
8.
N BES5HB, (Fagir V7. 20837 X7) G ) NJRREB, (30 99
I A N S L.
H.BEE5EE, (105
1.
2. (D 2)
2.
3.
3.
-
] 4.
4. S
=N
[«<—24 cm —
1 5 25 I A 2 R o OB €6 T 0 A L I S 0 25 8 Tk i 11 5 T 1 5 X A P2 1 OB €6 T 0 M R I B 0025 8 Tk

J
=
=



FEFHAREMSRE(+L)

=i
PE 4
EEER

IO N e e A SR U N AN e R R I T S
B,

2. PR 23 wn S 28 A 28 SR U 5 Sl 0 38 RO S 00 i PR 40
WHME R ERETERS PR TR ELEE.

3. Tl HEL S O e 7 4 A R XS PR A 2 R R X
B B2 SO A B R AR U A R

A PR R T I AT S AR

A

e 54>

L T (e
H % x 6
TE 2
HEREUR ) EmE=111]

— BT, (27 %)

1.

2.

10.

11.

12.

ZHIETE. (54

1. 2. 3.

T T A5 0 0 2 DS N A 2 R D TR (8 T A R DX SR 2 R TE AL

J

)=

\
/

TR TE 425 L1 280 JL DX S D A 22 o R 0 5 TR T ATE B S DXl 1) 28 58 TE AL

= GEFE#E, (15 %)

L[A] [B] [C] [D]
3.LA] [B] [C] [D]
5.[A] [B] [C] [D]

2.[A] [B] [C] [D]
4.[A] [B] [C] [D]

M AREXRWFEITE, (12 5)

1 1 1.1 1,1
28 1 —16X - ST (3+4)><12
17 3 5 o 3,1 1 2
13 8 8 6 5 +6><3
B BREBHFE, 9
1 1 6 7 .0 2

TR T 45 5L 14 20 T DX S A P 27 o ST TR 00 HE R T DX P 2 58 TR AL

=)




TR A A5 00 2 DB A R D TR (A TR A R DX 2 R TR TR TE 425 R I 280 JL DX S D A 2 8 o R 0 5 TR 0 ATE B S DXl ) 28 58 TE AL

N RBEZEITREHEEEITE, (6 %) 3.(8 9%
SRUNFER AEZFFESMLB/NARABSITE D
BN Cnwg U N
30
25
25
20 18 %
7
15
10
5
L, i 441 3441 %A i A 44l (2)
£ BREHE, (26 5)
1. (4 )
4. (5 %)
2. (4 5
5.(5 %)
T TE 45 10U 25 R0 X de P A 255, o A 0 T T HE PR 52 X 3 A 28 6 0 Rk TR FE 45 L 1A 285 R0 DX 3 P V28 i B 60, 0 1 0 HE BR S8 [XC 388 19 2 58 B3

J
=
=



FEFHBAREMBRSE (+/\)

=i
PE 4
EEER

IO N e e A SR U N AN e R R I T S
B,

2. PR 23 wn S 28 A 28 SR U 5 Sl 0 38 RO S 00 i PR 40
WHME R ERETERS PR TR ELEE.

3. Tl HEL S O e 7 4 A R XS PR A 2 R R X
B B2 SO A B R AR U A R

A PR R T I AT S AR

A

5 4

L T (e
H % x 6
TE 2
HEREUR ) EmE=111]

— BT, (22 4
1.

2.

9.

10.

ZVEFES, (12 5

LL[A] [B] [C] [D]
3.[A]1 [B] [C] [D]
5.[A] [B] [C] [D]

2.[A] [B] [C] [D]
4.[A] [B] [C] [D]
6.[A] [B] [C] [D]

T T A5 0 0 2 DS N A 2 R D TR (8 T A R DX SR 2 R TE AL

J

)=

\
/

TR TE 425 L1 280 JL DX S D A 22 o R 0 5 TR T ATE B S DXl 1) 28 58 TE AL

= @WuE—H, (25%9)
1. (4 4

2. (12 4%
6 7,8
779ty

2 1
7.5><§+7.5><§

3.9 %)

2 1
§1+§xf84

9 2 1
075372

1
(= E)XZ

5 1 .10
73T
10_1_4
9 5 5
x—2.4=10

TR T 45 5L 14 20 T DX S A P 27 o ST TR 00 HE R T DX P 2 58 TR AL

=)




TR A A5 00 2 DB A R D TR (A TR A R DX 2 R TR

M RERITEEREE, (12 5)

How /1

------ E7

1000

800

600

400

200

0
1.
2.
3.

H

8H

9H 10H

11H 12H

HAy

B BRRE)E, (29 5
L. (5 %)

T A A5 L 0 25 P DS N A 2 R D TR (A R T A IR DX SR 2 R TR AL

J

)=

\
/

TR TE 425 R I 280 JL DX S D A 2 8 o R 0 5 TR 0 ATE B S DXl ) 28 58 TE AL

2.(5 %)

3.(6 4

4. (6 5

5.(7 %)

TR T 45 5L 14 20 T DX S A P 27 o ST TR 00 HE R T DX P 2 58 TR AL

N
=)




FEFHHAREMBRE (T )

=i
PE 4

IO N e e A SR U N AN e R R I T S
B,
2. PR 23 wn S 28 A 28 SR U 5 Sl 0 38 RO S 00 i PR 40
WHME R ERETERS PR TR ELEE.
T I R I A 5 R R 2 A DX A A R R X I A
B B2 SO A B R AR U A R
A PR R T I AT S AR

w

A

5 4

L T (e
H % x 6
TE 2
HEREUR ) EmE=111]

—\iﬁﬁi@‘jo

1.

(27 %)

> *® NS0 kLN

[
o

ZGEEE, 125

1.[A] [B] [C] [D]
3.[A] [B] [C] [D]
5.[A] [B] [C] [D]

2.[A] [B] [C] [D]
4.[A] [B] [C] [D]
6.[A] [B] [C] [D]

T T A5 0 0 2 DS N A 2 R D TR (8 T A R DX SR 2 R TE AL

J

)=

\
/

TR TE 425 L1 280 JL DX S D A 22 o R 0 5 TR T ATE B S DXl 1) 28 58 TE AL

= WHE#E, (15 %)

1. (6 %)
> 7 1 13_(4_5 32
1276 8 18 (5 18) g 5 18X
2.(9 %)
3.1 1 1 2 2
ngfl—Z §J,+§1—11 157 3
M EEE EEEAENEBEG, (69
fmd
7
— I K K2 50 BB R B2 10 o —MIKAELAIRIK 6

o

B —ARKAEHFBEE, K S0 em, KEEH

S
4

BRKM T, (124

=)

TR T 45 5L 14 20 T DX S A P 27 o ST TR 00 HE R T DX P 2 58 TR AL




TR A A5 00 2 DB A R D TR (A TR A R DX 2 R TR TR TE 425 R I 280 JL DX S D A 2 8 o R 0 5 TR 0 ATE B S DXl ) 28 58 TE AL

2 4. (4 %)
3.
. fEREE, (15 %)
1. (4 59
NRESITEREZFEBE, (13 5)
250 Y AE /R
310 KR
300 "
............ 1%
250 240 230
200
200 510
150
150
100 | 110k au {100 2.5 %)
T e S s
. 37 A 25
7 8 9 10 11 12 A/ A
1. (2 49
2. (3 4
3.(6 %)
3. (4 49 ﬁ
0.257
oA x o e /‘_‘/J\#FB‘Z#,
Wi, g | | RO EE vor
T TE 45 W00 B 28 00 X 38 P V2 o 260 S B 0 R R X 38 1) 25 6 TG K 7 TE 45 1014 255 T [X sl PN A 220 o R ) B 0 0 1 0 A R S IX 38 1 25 52 TG 3k

J
=
=



FEFHHAREMBRISE (=)

#HEil@m  Fug
HE 44 Ea5 557
EEEM

LA 2 e RO BEGE 4 L2  US WE AE L OF I I A S R I X I,

AT : :
2. R S A6 UM P 2B B4 B0 5 A i S 4 0 e 3

WHE RS E RS TEBT T T Bl % bRl ]
. L 1 00 X B A 102 6 o250 X 03 % =

15 S8 T TE B A I A i
4 AR R T R R BER MR ] o e

—  EEEHB/H. (45

10.

T T A5 0 0 2 DS N A 2 R D TR (8 T A R DX SR 2 R TE AL

J

)=

\
/

TR TE 425 L1 280 JL DX S D A 22 o R 0 5 TR T ATE B S DXl 1) 28 58 TE AL

= FIET&, (10 )
1. 2.

MmEFER, (10 )
L.[A] [B] [C]
3.[A] [B] [C]
5.[A] [B] [C]

2.[A] [B] [C]
4.[A] [B] [C]

A BRERHAZXEITE, (10 5)

3_7_6 7431 4.3

2 13 13 10 (10 5) 3597

2.3 ,3.5 2.8 .(2 4

EXZ+*‘2 3><9'<5 15)

NJREFE, (6 %)

1 1 4 1 _8

=)

TR T 45 5L 14 20 T DX S A P 27 o ST TR 00 HE R T DX P 2 58 TR AL




TR A A5 00 2 DB A R D TR (A TR A R DX 2 R TR TR TE 425 R I 280 JL DX S D A 2 8 o R 0 5 TR 0 ATE B S DXl ) 28 58 TE AL

£ REFEEITELRZFRZE, (84 3.(5 )
W/ C
0 —
27 | - B
25 T
20 Y )
14| 15| .-+~ T19 |20
ig 3¢ 15
- 9 |10
1H 2H 3°H 4H 5H 6°H  Hf#4
1. (2 5
4. (6 )
2.2 %)
3.4 4)
5.(5 )
U BRREE, (30 9
1. (4 )
6. (6 )
HAEﬂ% N A B 5
2. (4 57\> 5 Py
' : ’
15 ‘ 3
: 10 l B 10
T < 24 Py < 24 Plx
T TE 45 W00 B 28 00 X 38 P V2 o 260 S B 0 R R X 38 1) 25 6 TG K 7 TE 45 1014 255 T [X sl PN A 220 o R ) B 0 0 1 0 A R S IX 38 1 25 52 TG 3k

J
=
=



